=

oo

2o 7

%

rlo
o

= TE2H?

O Vs+1<+5
@ VE+1<V5+ V2
® 3-410< V10-5

@ V5+1<5+1
@ 3-+vV10< Vi0-4



2. 2v50- VI8 + VIS & AstehE?

® -3v2 @ 4V2 ® 5v2
® 6v2 ® -7V2



o Agolet,

49 &

® 72 7} (-7 9

-2

|

=

ol
A
o

29 A

2 7ol

ol
il

2FA 0] AlF
2 +4 o]t}

=

5

A €]
16 ] A&

KX
=

@ 0
®

1
j



® V25

@ +V11

® 0

@ ++100



9

5. V30 +x 9 gto] AATF HEE Sk 7P A2 A A «

rr

@ 4 @ 6 @9 @ 10 ® 19



6. xX*-6x+A=(x+B)> <", AB 2 F2?

@® -36 @ -27 ® 27 @ 36 ® 216



o 1O BE AAZ 9] ol 9t Hol7t E2 A 2

g wo] ol

PN AN 1 1 1 1

~
~
~
~

~

Tl 22 | Tz |PT|lx| 2|z | 2|2

O x+1 @ x+2 ® x+3 @ x+4 ® x+5



cFgof Foi

42 377 2 ARE A2 I ), 5 AR
et 727

O V3+ V2 @ V3+1 ® V2
@ 5+ V3 ® V2+ 5



200 & a, b & o]-&5to] LpeY

2
® 10a + 5b



10. «x

_V3+ V2

L GRS N TR

@ V2

y =

@ V3

® V6

@ 23

=
flo
)

® 36



11. 95 F % -y -0’ + 0y & dE?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y



12. a-b=V3+2<L 1, a2+ b%-2ab —4da + 4b + 4 2] ZF-2?

@1 @ 2 @ 3 @ 4 ® 5



